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Class: V Subject: Mathematics Unit9 Money and Bills

Q1. Choose the correct option-

1) Mr George bought a suit for ¥3255.50 and spent X1025 on its switching.
He also spent *475 on a tie. How much money did he spend in all ?

a) I4755.50 b) X4755.05  ¢)4575.50 d) %4575.05
2) What should be subtracted from X72.57 to get X53.757?
a) 318.28 b) T 81.82 c) 218.02 d) X18.82
Q2. Nidhi buys the following items from a garment store:-
2 Anarkali suits at 2300 each, 1 jeans at 1800 each
3 shirts at T 1145 each, 3 trousers at 1650 each

Prepare a bill on behalf of the shopkeeper, dated 16/08/23 and a bill
number 15.



